
Sub AssemblyLocation Type Size Thread
Getriebe Diff.Gehäuse Setscrew 5/16” UNC
Getriebe Diff.Gehäuse Spring Washers 5/16” -
Getriebe Diff.Gehäuse Full Nuts 3/8” UNF
Getriebe Diff.Gehäuse Full Nuts 5/16” UNF
Getriebe Diff.Gehäuse Spring Washers 3/8” -
Türen Mini Clubman\Van Rear Door Hinge Hex Bolts 1/4" UNF
Türen Mini Clubman\Van Rear Door Hinge Hex Bolts 1/4" UNF
Türen Mini Clubman\Van Rear Door Hinge Nyloc Nuts 1/4" UNF
Rahmen hintenRear Subframe Mounting (Mk3 onwards) Hex Bolts 5/16” UNF
Rahmen hintenRear Subframe Mounting (Mk3 onwards) Hex Bolts 5/16” UNF
Rahmen hintenRear Subframe Mounting (Mk3 onwards) Nyloc Nuts 5/16” UNF
Lenkung Steering Rack U-Mounting Nyloc Nuts 5/16” UNF
Elektrik Alternator Top Setscrew 5/16” UNF
Elektrik Alternator Bottom Setscrew M8 1,25
Elektrik Alternator Bottom Nyloc Nuts M8 1,25
Elektrik Alternator Flat Washer 5/16” -
Elektrik Alternator Spring Washers 5/16” -
Elektrik Alternator Full Nuts 5/16” UNF
Elektrik Starter Motor Setscrew 3/8” UNC
Elektrik Starter Motor Spring Washers 3/8” -
Elektrik Dizzy Mounting Setscrew 5/16” UNF
Kopf Thermostat Housing (Short type) Hex Bolts 5/16” UNF
Kopf Thermostat Housing (Short type) Flat Washer 5/16” -
Kopf Mini Heater Hose Take Off Spring Washers 1/4" UNF
Kopf Mini Heater Hose Take Off Full Nuts 1/4" UNF
Kopf Head Mounting Full Nuts 3/8” UNC
Kopf Head Mounting Flat Washer 3/8” -
Kopf Mini Heater Hose Take Off Spring Washers 1/4" UNF
Kopf Mini Heater Hose Take Off Full Nuts 1/4" UNF
Kopf Heater Hose Take Off Setscrew 1/4" UNF
Kopf Heater Hose Take Off Flat Washer 1/4" -
Kopf Manifold Full Nuts 5/16” UNF
Kopf Manifold Thick Washer 5/16” -
Kopf Manifold Flat Washer 5/16” -
Kopf Rockers Mountings Full Nuts 5/8" UNF
Kopf Rockers Mountings Flat Washer - -
Motor Engine Mount Setscrew 5/16” UNF
Motor Engine Mount Setscrew 5/16” UNC
Motor Engine Mount Spring Washers 5/16” -
Motor Engine Mount Full Nuts 5/16” UNF
Motor Flywheel Cover Setscrew 5/16” UNC
Motor Flywheel Cover Spring Washers 5/16” UNC
Motor Timing Cover Setscrew 5/16” UNF
Motor Timing Cover Setscrew 1/4" UNF
Motor Timing Cover Flat Washer 5/16” -
Motor Timing Cover Spring Washers 5/16” -
Motor Timing Cover Flat Washer 1/4" -
Motor Timing Cover Spring Washers 1/4" -
Motor Timing Cover Full Nuts 5/16” UNF
Motor Timing Cover Full Nuts 1/4" UNF
Motor Radiator Top Setscrew 1/4" UNF
Motor Radiator Top Flat Washer 1/4" -
Motor Water Pump Setscrew 5/16” UNF
Motor Water Pump Hex Bolts 5/16” UNF
Motor Water Pump Flat Washer 5/16” -

PDF C
re

ate
! 3

 T
ria

l

www.sc
an

so
ft.c

om



Motor Water Pump Spring Washers 5/16” -
Motor Tappet Chest (Small Bore and Cooper S) Setscrew 5/16” UNF
Motor Tappet Chest (Small Bore and Cooper S) Flat Washer 5/16” -
Motor Mechanical Fuel Pump Setscrew 5/16” UNF
Motor Mechanical Fuel Pump Flat Washer 5/16” -
Motor Mechanical Fuel Pump Spring Washers 5/16” -
Motor Oil Filter Housing Setscrew 3/8” UNC
Motor Oil Filter Housing Flat Washer 3/8” -
Motor Oil Filter Housing Spring Washers 3/8” -
Motor Flywheel Special Flywheel Bolt 5/8" 16UNS
Motor Main Oil Feed Banjo Bolt 5/8" UNF

Sub AssemblyLocation Type Size Thread
Aufhängung Lower Arm Support Pin Full Nuts 3/8” UNF
Aufhängung Top Arm Pin Full Nuts 1/2" UNF
Aufhängung Top Arm Pin Flat Washer 1/2"
Aufhängung Tie Bar to Bottom Arm Setscrew 5/8" UNF
Aufhängung Tie Bar to Bottom Arm Full Nuts 5/8" UNF
Aufhängung Front Shock Absorber Mounts Nyloc Nuts 5/16” UNF
Aufhängung Ball Joints Full Nuts 7/16" UNF
Aufhängung Ball Joints Spring Washers 7/16" -

Front hub (drum) 15/16"
Front hub (7" disk) ?
Front hub (7.5" disk 'S') 1 5/16"
Front hub (8.4" disk) 1 5/16"
Rear hub 15/16"

Steering wheel
1 5/16" early, 1 1/8"
later

Crank flywheel
Crank pulley 1 1/4" or 1 5/16"
Cam sprocket 1 1/4"
Crank pulley 1 1/4" or 1 5/16"

OPRV cap 1"
Hub swivel joint cap 1.5" (deep socket)
Hub swivel-to-arm 11/16"
Wheel nuts (imperial) 11/16"
Wheel nuts (metric) 17mm (usually)
Head nuts 9/16"
Manifold nuts 1/2"
Thermostat housing 7/16"
Tappet cover bolts 5/8"
Shock retaining nuts
Sump plug
Subframe Tower bolts (later single) 1 5/16" inch (33.4mm) from Chris

Morriss

1 5/16" pre-verto clutch, 30mm verto
~1982>

Bumpers Can be imperial or metric depending on source/age. Bumpers from Minispares are likely to be 1/4"UNF : Suggested by Andy as he bought some bumpers from
Mini Spares and they came without nuts and he had quite a task trying to find replacement nuts not knowing the size!

9/16" - this is same thread as wheel studs, yet different size socket
15/16" (Tapered sump plugs 7/8")

PDF C
re

ate
! 3

 T
ria

l

www.sc
an

so
ft.c

om



Length Qty Req.

1" 10
- 13
- 4
- 4
- 4

1 3/4" 8
3/4" 8

- 16
2 1/2" 6
1 1/2" 2

- 4
- 4

2" 2
20 1

- 1
- 4
- 4
1 1/4" 2
1 1/4" 2
- 2
3/4" 1
1 1/2" 3
- 3

- 2
- 2

- 9
- 9

- 2
- 2

1/2" 2
- 2

- 6
- 4
- 2

- 4
- 4

1" 7
1" 3
- 10
- 4

1" 8
- 8

3/4" 5
7/16" 6

- 5
- 5
- 6
- 6

1
1

1 1/2" 2
- 2
1" 2
2" 2
- 4

PDF C
re

ate
! 3

 T
ria

l

www.sc
an

so
ft.c

om



- 4
1 1/14" 2
- 2
1 1/2" 2
- 2
- 2
1" 2
- 2
- 2
?? 1
- 1

Length Qty
- 2
- 4

4
1 1/2" 4
- 4
- 4
- 4
- 4

Bumpers Can be imperial or metric depending on source/age. Bumpers from Minispares are likely tobe 1/4"UNF : Suggested by Andy as he bought some bumpers from
Mini Spares and they came without nuts and he had quite a task trying to find replacement nuts not knowing the size!

9/16" - this is same thread as wheel studs, yet different size socket

PDF C
re

ate
! 3

 T
ria

l

www.sc
an

so
ft.c

om


